(A2 AR - Eb 1 ock Bl 1E

I

SRS o g,

ke 30 4= 3 H 53D

[ B =—="m-—=1
L | W ssmbE | R A s mE | R s mE | R ode R om B | B R R om | & x A | B ES B

T H (5 4 1) (4 2 t1) (51 fh) (22 ) (4 #b) (144%1) (26 )
M OE kI A 1, 550, 230 T/ 841, 469 T 1,341, 326 T/l 244,325 I 30,923 3,733,025 M 275, 248
(H [ A3.4 % A3.8 % 2.9 % A0.7 % A5.2 % A3.3 % AL.2 %
O L A 34,774 H 37,035 M 40, 233 1 27,862 [ 21,900 M 37,093 1 27,035
(%18 154D) +0.7 % +2.7 % +0.1 % +1.9 % +3.1 % +1.0 % +2.2 %
E 48.3 % 49.8 % 49.0 % 50.4 % 51.0 % 48.9 % 50.5 %
+0.0 7% +0.3 7= A0.1 7 +0.1 7= +0.5 7 +0.1 7= +0.2 72
ESN 68.3 % 62.0 % 71.5 % 67.0 % 49.0 % 67.7 % 63.8 %
A2.5 7 A3.8 7= ALL5 7 ALL5 7= A3.7 £ A2.6 7= A1.9 =
£ 17 k m 172.6 *u 183.5 *a 199.4 *. 144.9 *. 112.1 *a 184.0 *u 140.4 *»
(FB1R1ELY) +1.1 Fa +4,2 *q +0.6 T +0.3 *a +4.4 Ty +1.8 *a +1.2
¥ #H k m 83.4 *u 91.3 *a 97.7 *a 73.0 *a 57.2 *u 89.9 *. 70.8 *u
(FB1R1ELY) +0.6 T +2.5 *q +0.1 Fa +0.3 *a +2.9 To +0.9 *a +0.8 *a
1T k mIT A 201. 44 201.85 201.73 H 192. 24 [ 195.31 201.64 192.58 [
Gefr k m i ) +0.12 [ +0.73 M A0.47 [ +3.16 [ A1.89 [ +0. 05 +2.59 H
FZH k m LA 416.83 405.57 1 411.78 H 381.44 M 383.18 M 412.43 M 381.64 M
(FEknkh) A0.27 [ A0.62 M 40.23 [ +5.34 A7.57 [ A0.34 M +3.88 H
o | O 24.1 [A] 26. 4 [a] 28.0 [A] 16.0 [A] 12.0 [A] 25.9 [A] 15.5 [A]
(%B101E%D) +0.0 [A] +0.5 [A] A0.3 [A] +0.1 [A] +0.9 [A] +0.0 [A] +0.3 [A]
G AN B 32.2 A 35.4 A 37.0 A 22.0 A 18.5 A 34.5 A\ 21.5 A\
(%10 1E%D) +0.0 A +0.9 A +0.1 A +0.3 A +0.9 A +0.2 A +0.4 A
3 #H k m 3.5 *a 3.5 *u 3.5 *u 4.6 *a 4.8 *a 3.5 *u 4.6 *a
(BE1EYY) +0.1 Fa +0.1 *a +0.1 Fa +0.0 *a AO. 1 *u +0.1 *a +0.0 *a
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